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Detailed Tables

Total Male Female 18-34 35-54 55+ <HS HS Post Sec Univ Grad
A B C D E F G H I

Base: All respondents 1046 682 364 229 425 392 89 339 453 165

Weighted 1046 506 540 292 415 339 94* 421 341 189

326 140 186 123 111 91 29 106 117 73

31% 28% 34% 42% 27% 27% 31% 25% 34% 39%

A DE G G

720 366 354 169 304 247 66 315 224 116

69% 72% 66% 58% 73% 73% 69% 75% 66% 61%

B C C HI

1. As you may know, Omar Khadr is a Canadian citizen who was captured by U.S. troops after a firefight in Afghanistan and held in Guantanamo Bay for the last seven years. After maintaining his
innocence since being captured, he has recently pleaded guilty to being a member of al-Qaeda, participated in acts of terrorism and murdered an American soldier as part of a plea bargain negotiated by
both Canada and the United States that could allow him to serve some of his sentence in Canada. Some people say that Omar Khadr probably is not guilty and was forced into this plea bargain as his only
option to be released someday after serving his sentence, and that the Canadian government should have been offering him more assistance prior to this point. Other people say that Omar Khadr probably
is guilty and this plea bargain is too generous, and that the Canadian government was right not to have offered him any assistance up to this point Which is closer to your point of view?
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Total Male Female 18-34 35-54 55+ <HS HS Post Sec Univ Grad
A B C D E F G H I

Base: All respondents 1046 682 364 229 425 392 89 339 453 165

Weighted 1046 506 540 292 415 339 94* 421 341 189

265 125 139 88 98 78 22 94 86 63

25% 25% 26% 30% 24% 23% 23% 22% 25% 33%

G

270 121 149 106 82 82 21 99 95 54

26% 24% 28% 36% 20% 24% 23% 24% 28% 29%

DE

511 261 251 98 235 178 51 228 160 73

49% 51% 46% 34% 57% 53% 54% 54% 47% 38%

C C I I

2. After serving one year of his sentence in the United States, as part of his plea bargain as a Canadian citizen, Omar Khadr could be eligible to serve the remainder of his sentence in Canada, where prison
conditions are better and the minimum amount of time served prior to being eligible for parole is much lower than in the United States. Do you think that Khadr should serve all, some or none of his
sentence in Canada:
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All

Some

None
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